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Note : All three questions are compulsory. All

questions carry equal weightage.

1. Answer the following question in about

1000 words :

Differentiate between the types of interpersonal
communication. Discuss the role of parents and
teachers 1s using communication effectively

with children.

P.T.O.
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Or

Discuss the problems associated with physical
development of children. How can parents and
teachers help children to deal with these
problems for better adjustment in life ?

Answer the following question in about

1000 words :

Describe the characteristics of children with
special abilities and the problems associated

with them.
Or
Play has a therapeutic use in the development

of children. Discuss. Explain the effects of play

deprivation in children.

Answer any four of the following questions in

about 250 words each :

(1) Describe the problems associated with

emotional development of children.



[3] NES-102

(11) Discuss the role played by a teacher in
guiding children regarding mass-media.

(111) Describe some characteristics of a well

integrated personality.

(iv) Explain gender discrimination and the
problems associated with it. Illustrate with

examples.

(v) Describe some characteristics of slow

learners.

(vi) Discuss the role played by the school to

promote learning in deprived children.

P.T.O.
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